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1. Sample response: If you walk 2 km west and then 2 km cast, the distance of your walk is 4 km, but your
displacement is 0 k.

2. Sample response: Period is the amount of time between two events that happen repeatedly.
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Use What You've Learned—Suggested Answers
4.B
5D
6D
7. (@) 150 cm; (b) 5.4 cm/s; () 0.71 cm/s toward the 0 cm end of the metre stick
8. (a) no; (b) at the beginning; (e) at the end
9. The Cadillac has a higher average speed (89 km/h). The Cadillac arrives in 1 h 34 min, and the

Volkswagen arrives in 1 h 45 min; the Cadillac arrives first. About 11 min separate the arrival times of
the cars.

0. (a) 45 km; (b) about 4.1 km; (e) about 49 km; (d) about 22 km/h
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(b) 8.1 m/s; (c) about 15 m/s
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